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Unit 1 TEST REVIEW

Operations with Functions their Inverses
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Given the vajue of a function, work backwards to find x
Hiehly Projicient: Find the vaiue of a« composite function svmbolicaliy.
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7.7 1-1 Find the value of a function or 2 composite function from its equation, graph or fabie.
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LT 1-2 Find the sum, difference, product, or guotient of two fanctions
Hiehly Proficient: Find a function using meore than one operation
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LT 1-4 Evdluate and graph 3 tyvpes of piecewise- -defined functions.

Highly Proficient: Write the equations for a grapfr of a discontinnous linear piecewise
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Exercises 15-18: Use f(x) to complete the jollowing.
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